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(A) 9.8 3 
(B) 7.0 dM 

7 (C) 9.2 H (0) 8.5 HA2 
(B) 0.1. rad/s 199. The permissible value of angular speed, so thasm 

A) S rads 

(D) 2 rad/s 
I rad/'s the wheels do not get lifted from the rails i 

196. Cavitation in pump OCcurs at -

(A) Suction side 

given by 
(B) Delivery side (A) 
(p) None of above 

2Pg D =2 
(C)Both sides Bb 

( 
Bb 

D) 

(D) aT 

197. Which of the following are the inversions of 

double slider crank mechaFism? 

Oldham coupling 
Whitworth quick return mechanism 

I Beam engine mechanism 

Elliptical trammel mechanism 
Select the correct answer from the code given 

(A) 2Pg (6) 

Bb 

( 
() Pg 

2Bb

200. Gas turbine cycle works on -

below 
(A) Reversed Brayton cycle 

(A) I, III, IV (B) I and IV 
(B) Carnot cycle 

(C)I and II (D) I, I1, III (C) Brayton cycle 

(D) Reversed 
Carnot cycle 

(A) JFT AT7 5 

(C) ac 

IV 

(8) I FRT IV 

(A) II, III, TIV 
(D) I, I, II 

(C)I TeT II 
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From a metallic wall at 100°C, a metallie rou prorudes to the ambient air. The temperature at tne up will be minimum when he ro 

192 If the slendermess ratio is less than... 
*. 

Euler's tormula for a mild steel column is no 

valid. of- (B) 120 
(A) 6 

(D) 1 80 A Silver 
(C) Bronze (8) Steel ()4 

(D) Copper 

(B) 120 
(A) o 

(C) 40 80 

61T 
(A) FTET 

193. The sþeed of an engine varies from 210 rad/s too 

190 rad/s. During a cycle of operation, the 

change in kinetic energy is found to be 400 Nm. 

The inertia of the flywheel in kgm* is equal to -

(B) 0.2 

(D) a 

Choose the correct sequence of hydraulic A) 0.5 circuit 

() 0.1 (C) 0.55 (A) Penstock, Guide wheel. Runner, Scrol casing, Draft tube 
y A 210 rad/s 190 rad/s T5 

(6) Draft tube, Guide wheel, Runner, Penstock, 
Scroll casing 

(C) Penstock, Scroll casing. Guide wheel, Draft 
tube, Runner 

u uRaa 400 Nm yT TET.I TS 

A) 0.5 (B) 0.2 (D) None of the above 

(C) 0.55 (D) 0.1 
T94. The turning moment diagram for a single (A) TRET, TIS A, VR, ia dtiT, cylinder double acting steam engine consists of 

positive & negative loops above & below the 

average torque for the positive loop, the ratio of 
the speed of flywheel at the beginning and the 
end is- 

(A) Greater than 2 
(B) Zero (D) TET 
(C) Less than unity 191. For a ductile material, the limiting value of 
(D) Equal to 1 - 5 octahedral shear stress (to) is related to the yield 

stress (Sy) as- 

(AT,= S, (V+/3) 
(CTSy (V3/2)() None of these 

(B) TS,(3/2) 

(B) (A) T=S, (V2/3) 

() T=Sy(V3/2) 
(6) TS, (3V2) 

(D) T (D) 1-5 aVTR 
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181. Numerals for vertical lines in unidirectional 
dimensioning are- 

185. A gyroscope is a spinning body move in other 

(A) Internal forces 
(B) Extermal forces 
(C) Gravitational forces 

dy hach is fre 
directions under the 

asúon of- 

(A) always vertical 

(6) wntten inclined 

(C) written parallel to dimension line 

(D) aligned along dimension line (D) None of above 

(A) HRTTeT 
(B) fiT oT 
(C) T7HET HHTHTETR foraT T 
(D) 34T4T1 RET HTY HRRYT 

(A) 3TR 

(B) I 

(D) 3TRTTÀ T 182. Calculate the torque transmitted by the line 
shaft rotating at 200 rpm and transmitting 20kW 

(Approx.) 
(A) 10,000 N-m 
(C) 10 N-m 

186. A steel rod Im long and 20mm x 20mm. cros-section is subjected to a tensile force- 
40kN. Determine the elongation of the rod modulus of elasticity for, the rod material is 

(B) 1000 N-m 
(D) 100 N-m 

GPa. 

(B) 0.5 mmn 
IE B FRI 200 3TRÍ YH. T 3R TTT 
20 kW HaRUI IT T uAT aY -
(A) 10,000 N-m 

(A) 5 mm 
(C) 50 mm (D) 500 mm 

(B) 1000 N-m 
(D) 100 N-m FEis 1Her T str 20 ft. 

(C) 10 N-m 
183. In a strained material one of the principal stress equals twice the other. If the maximum shear 

stress is Tmax then what is the value of 
maximum principal stress? 
(A) 8Tmax 

FTH fY a HETT 200 GPa (A) 5 frt. (B) 0.5 fAt. 
(C)50 f 

187. The size across flats in a hexagonal nut is eq 

(B) 
(D) 500 f. Tmax 

(O) 4Tmax LOmax 

0- 

(A) D (B) 0.9D 
(C) 1.5D+3 mm (D) 1.2 D 

A) 8Tmax (B) Tmax 
) 2Tmax (D) 4Tmas (A) 1.5D (B) 0.9 D 

(C) 1.5 D +3 mm 
188. The unit of thermal diffusivity is -

(D) 1.2D 

09. The weight of rope in newton's per meter length 
1s generally taken as 

(A) 0.4 d (B) 0.6 d 
(B) m/hr (Amhr C 

(C)m/hr'C C)0.5 d? ()0.59 d 
(D) kcal/m2-hr 

(8) m/hr (A) m/hr C 
(C) m/hr°C 

(A) 0.4 d (B) 0.6 d 
kcal/m*- hr ) 0.5 d2 (D) 0.59 d 
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74. A 
178. The controlling force curve used to detemine 

the stability and sensitiveness of govemor is a 

graph between the controlling force and 

inserted A with rame and tile block can be 

Sing. 
ADRAW U nmand. 

(8) CNC SET UP AW SET UP (D) MV SET UP (A) radius of rotation balls 

) speed of rotation of the engine shaft 
height of governor 
(D) lift of sleeve 

(A)3 

To ensure the stability of a spring controlie govemor the conrolling force curve must 
fimto th 
(A) F=c.. alion 

F=Cr 8) F=Cir-C2 
= Cir 

(A) 5 f 

(C) F +Ca 
76. An Cir 

pipe a 8as is followine 

drop of 15 of 3.3kg/s, The Insulated 
What is rom the inlet to olepressure 

sSure drate of energy loss ehe pipe. 

0.287 Jke friction, given that R.. 

B) F Cir-C2 
D) F -C; 179. Self-locking condition for a pair ot square thread screw and nut having a coefficient of friction "', load of thread l and pitch diameter d' of thread is given by 

d< (8) d>ul 
(d (D) d> Tu and Ue rererence temperature To A 38.14 kW 

(C) 40.26 kW (8) 35.13 kW 
D) 42.62 kW 

A d 
6 dl 

(D) d>Tul 
(C) d> 

An epicy 
A is an i n has 3 shafts 
Ockwise. Bis unning at dC. 
250rpm clockwiseutput shaft nnpmn 
elockwise).C is fiv que on A is at 
shaft Cis- shaft. The ton kNmn 
(A) 20kNm (Anti-cloc lockwise) (8) 20kNm (clockwise) 
(C) 30kNm (Anti-clockwise) 

relie 

To- 300K )? 
0.287 kJkg K 3T* : 

aTUAT 
(A) 38.14 t are (B) 35.13 fat qTe 

8. (R 
T 8 

" In a sinele 
(D) 42.62 Te 

In a single actung wo stage reciprocating 

() 40.26 f (8) 35.13 

TE 

high pressure rur diameter for rh then 

hgh pressure cylinder is given by- 

the ratio of cviinde entercooling. then 
the low 

SUkNm (clock ISe) 
ys gttarTTs eR xiH 3e A, B 

(A) 

BI A a 3 ge 
Ta (tare e B 3tr 

TYE E pm 

. "= 

(A) 20kNm (ATHI T e-VTTa) (B) 20kNm (EtPIed) 
(C) 30kNm (THI 1 e-TfarS) (D) 30kNm (aETR) 

d2 

) Pa 
P 
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at a giver pour 
only a a 

pa 

wn as- 
A hot metal piece kept in air cools from 80'Cto 

70°C in tu seconds from 70 to 60°C inta seconds 

sure will transform 
*particular temperature 

A) 

Stagnation te (C) Critica 
(B S 

ule temperalure 
osolute 

and from 60 to 50°C in ty seconds, then- 

(A) tu > (:> 

ucal te Pera (O) Saturation temperature 

(0) The relationship between t, and ty will 
depend upon the material of hot piece (B)* 

(C) fae mTA 

80°C R 70°C 5, RE4 70 60C 3R y 

(D) iqf IYAm 162. In Pellon turbines, as low takes place, there is 

(8) tu< <B 
hangc 

D) 

elpcity only (B) Both v 

R R R 

cOy ana pressure (C) Presure only 

165. The bulk modulus of water with respect to air is 
how many times? 

o.000 times 

(D) None of the above 

B) 500 times 
(0) 10,000 times 91000 tümes 

-

8) S00 ga 
(D) 10,000 

20,000 T 
1000 00. 

A simple supported beam carries a point load at 

ts centre. The slope at its supports is 

(D) 
163. For a reaction turbine, the guide blade angle at where W=Magnitude of point load, ( AN 

eam 

Rigidity of be d,l= 
span of 

the inlet is 12°. For this turbine, the degree of 

reaction IS zero when the vane angle at the inlet 

48E 
(D) we 

IS 

48E1 

(A) 7 

(B)1 2 (C) 23° 
() 0 

12° I.R &YAT forq. sftfra 

We 
4BE 

E 

We 
(C)we 

(B) 12 

48EN 
16E1 

(A) 7 

(C) 23 
(O) 0 
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swhen the thickness ot nsulatio 170. Type fit use t0r a slide journal bear 

*ns 

tha xceeds 
he ciucal valde 

Pat flow rale remalns constant 

Crease in ne neat Tiow rate 

) 1emperature nses ar he Junction 

(C Cen pipe and insulation 

here is decrease in lne heat flow rate 

Slding gears on shaft is. bearing H8&-b7 
m 80Ct H6-j6 HSAS 
seconds 

(A) H8-b7 
(C)H H6-j6 
0ody cooline f H8-e8 

171. A body cooling from 80°C to 70°C takes es when left exposed to lakes 
conditions. It the body is to cool further fre 70°C to 60°C under same exiernal conditions will take 

(8) H5-hS 
D) 

will 

onmen 

electric generator coupled to a windmill 

6 Aces an average electic power of 6kW. 
A Sometime of 10 minutes (8) Time will depend upon the environmer- 

-

he powefe from the ho atery. 
Heudings is 0.3 kW. What will be 

the 

the 

conditions 
(C) More than 10 minutes () Less than 10 minutes amount of energy sorEd m thne battery in 2 

hours? 
() 23225 kw 

C) 32554 kW 

80°C 70°C T 51 8T À I0 ft (8) 14111 kW 
(D) 41040 kW IS 

(A) 10 fAfre KATA KA FT 
(C) 10 fa RT 

(D) 10 at 7 FT 
12 Name the gear which adds or subtracts angula 

displacement 
A) Compound gear 
(6) Reverted gear 
() Differential gear 
(D) Bevel epicylic gear 

) 23225 fvat are 

(C) 32554 fa aTE 
(B) 14111 frot ae 
(D) 41040 fat are 

169. In case of power failure, a battery is used to 
light a bulb, run a fan and heat an electnc iron 
(each of 10 W rating) tor 10 minutes. In this 

operation, the work done w and heat supplied 

9by the battery are -

(A) W=0, Q=0 
(8) W = 180 kJ, Q=0 

C) W=60 kJ, Q= 120 kJ 
(0) None of the above 

(8) Raes rr 
(C) favWNNT TIR 
(D) arITRHTZT|T5 fTUr 

173. The sleeve or muff coupling is designed as a- 

(A) Hollow shaft 
) Thin cylinder 

(C) Thck eylinder 

(0) Solid shat 

N 100 W ey ) 10 fe 

(D) atH VE 

A) W=0, Q=0 
(B) W 180 kJ, Q t W 60 kJ, Q= 120 kJ 

(C) ter erSR 
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in engine operates beiween temperature limits 
000 K and T2 and another engine operates 

ucen T: and 400 K. For both engines to be 

eually efficient, the value of T2 should be 

158. Modulus of res1lience undet ipe ension w 

A 
2E 

E 
D 

oqual to -

W 600 K B) 700 K 
(D) 625 K C)650 K 

(A) o 
2E 

(C) 20 
E (D) 159. The higher and lower 

temperature in 

(B) 700 K 
refrigerator working on reversed camo sve

W 600 K 

are 35°C and -15°C: The capacity of 

C)650 K 
151.Two insulating malenals of thermal conductivity K and 3K are available for lagging apipe carrying a hot tluid. if the radial thickness of each material is same 

(4) Material with lower thermal conductivity should be used for the inner layer and one with higher thermal conductivity for the 

D) 625 K 

yo the machine is 35.16 kW. Calculate the coefficient of performance (COP). 

(A) 2.14 

(C) 8.18 (8) 3.15 
(D) 5.16 

outer 

() Material with higher themal conductivity should be used for the inner layer and one with lower thermal conductivity for the co (A) 2.14 
3.15 

Ouker 

8.18 
S.16 

(C) It is not possible to judge unless numerical 60.f a piece of metal having a specific gravity of 

value of dimensions are given is immaterial in which sequence insulating materials are used 
13.6 is placed in mercury of specific gravity 13.6, then -
A) the metal piece wili simply float over the mercury with no nersion. (6) the metal piece will be immersed in mercury by half, 
the metal piece will sink to the bottom. (the whole of the metal will be immersed 

3 

wn 1s top surtace just at mercury level. 

C) 

115 
Page 25 of 32 



139. The frequency of primary and secondary forces 
in reciproxaling masses and contorm to the 

ratio 

S6. Consider the following statements 1. Govermor's function is to contro fluctuations of speed about mean spee o engine 
Governor s function is to contro u hean speed of engine as the load 

(6) 1:4 

1:2 

quirement changes. Which of the above statement(s) are correct? A) Both I and II (B) Only 1 
Only I 

(D) 2:1 
(O) Neither I nor II 

During a test on separating calorimeter the 

following observations were taken: 

Mass of water separated =0.5 kg/min 

Mass o steam passing through calorimeter = 5 

40. 

IL 

he dryness fraction is- 
(6) 0.990 

0.909 )0.902 

(B) a1 
137 dN I 

A hydraulic press has a 

ame 
the anpll plunger of 2s 0 mm 

dete d lorce on the plu neter. If 

T ZA = 0.5 fUT/ tTR 

(A) 40 Weight lified 
Is 40ON, then 

(A) 4000 N (A) 0.905 
(C) a 

(B) 0.990 (B) 3500 N () 4005 N 
(D) 5000 NN .902 () 0.909 

A Spur gear transmitting power is connected to the shaft with a key of rectangular section. The ype(s) ol stresses developed in the key is/are- (A) Bearng stress 
(6) Shearing, bearing and bending Both shear and bcanng stresses (O) Shear stress alone 

IR 25 THT. aI 

RATT TaT A 40 N 8, M THG 
4I 

RI 

4000 N (6) 3500 N 

(D) S000 N 4005 N 

The term cone angle is Used in perspective Views f 

(A) Triangular object 
(B) Conical objects 

A) fauftn a (C) For any shape of objects (0) Rectangular objects 

142. A clearance fit is oblained from -

******** * 

)H7/n6 (B) H7/g6 
(C) H7/m6 

D) None of the above 
(B) TTDTY T 

(A) H7/n6 
(C) H7/m6 

8) H7/g6 () 34TT6TN TJY 
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50. Select the rect option from down below tor The water is supplied at the rale of 0.02m per 

second froma height of 3m to a hydraulic ram, 
the angleot threaapecuveo direrent thread 

profiles- 

(A) Unified: 60, Briush Associated: 45 

which raises 0.002 m's to a height of 20 m from 

the ram. Delermine Rankine's efficiency ofthe 

hydraulic ram. 
(B) Acme: 29, Unified: 45° 

(B) 66.67%6 A) 54.56% (C) Acme :65°, Buttress: 45 

() Acme: 29, Britüish Associated: 47.5° (C) 62.96% (D) 60.12% 

3 texG ETKr *T 0.02 

A) FTDIg :60°, TATez FTE: 45° 
(6) ya4:29°, TVE :45° 
() raa: 65". KT :4 
D) ta4: 29°. Tatezt FTG:47.5S 
In radial beanng 

he beinng pressure is exeried at ght 

(A) 64.56 (B) 66.679% 
(C) 62.96%* (D) 60.12 

P154. When a body is subjected to a direct tensile 
stress (G) in one plane, then normal stress on an 

oblique section of body inclined at an angle to 

angics lo the shalt axis 

The bearing pressure is exerted at 45° to the shaft a 
the nomnal of the section is equal to? The beanng pressure i5 zero 

None ol the above G cos 
(C)a sin'9e sin 

(D) a cose 

(A) a cos e 

sin 
(O) a cos e 

(C) a sin 

C155. Which of the following is not an editing feature in CAD? 
4) Mirronng about a plane 

162 Increase in pressure at the outer edge of a drum of radius R due to rotation at o rad/sec. full of 
quid of density p will be- 

A po'R /2 

8) Trimming a line 
(C) Deleting an item 
(O) Changing text 

(6) poR/2 

(C)p po'R (0) 2parR 

R 3 E fAR orad/sec R 

(A) po R/2 (8) po R/2 

(0)2 2pu*R po'R 

115 
Page 24 of 32 



0. A diesel and to cycle have the same 

compression 
rano T. The cutoff ratio of the 

cycle is . Ie air Standard efficiency of the 

will be equal when -

133. For a square key madeol mild steel, the sha and crushing strengths are related 
(A) Shear strength = Crushing sireng 
(B) Shear strength > Crushing strengh 

Cycle will 

(A) S-r(S-1) +r =0 

(B) S-r (S-1)-1 =0 

(C) S- r (S-1) +1 =0 
(C) Shear strength < Cnushing strengh 
(D) None of the above 

(D) S-r(*)+1 =0 

(A) 345qo7 itdT =quA M (A) S-r (S-1) +r =00 

(B) S- r (S-1)-I =0 

(C) S- r (S-1) + I =0 

() S-r(S+1) +1 =0 
181. Two long parallel plates of same emissivity 0.5 

are maintained at different temperatures and 
have radiation heat exchange between them. A 
radiation shield of emissivity 0.25 placed in the 

134. In order to avoid the effect of capillanity in 

Manometers, minimum tube diameter used is -

middle will reduce radiation heat exchange to- 3 mm (B) 4 mm 
(A) 1 (8) 1 14 (C) 10 mm (D) 6 mm 
(C) 3/10 (D) 3/5 

THTT baT = 0.5) T 

A) 8 fT. (8) 4 A1. A) 1 (B) 1/4 
3/10 (D)3 3/5 (C) 10 ft. (D) 6 frit 

132. A solid steel shaft is to transmit a torque. of 
TORN-m. If the shearing stress is not to exceed 

4SMPa, find the minimum diameter of the 
shaft 
(A) O1 m1nn 

9 In double slider elliptical trammel mechanism. 

midpoint of connecting rod of sliders wl 
race 

(B) 104 mm (A) Triangle (B) Ellipse 
(C) 1040 mm (D) 10 mm (C) Cycloid () Circle 

RN BI fè 3s7syuj TAT 45 MPa 35 

(A (B) $NtgmDR (A) 01 fq. 

()1040 faA 
(8) 104 

(D) 10 f1. 
C) (D) g 

115 
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A cantilever of span 5 m camies a point load 
free end. If he slope is 1 (0.01745 radiar 

the deflection al tne iree end would be neare 

which partly absorbs and partly reflects 

(04p=l) 
and (T= 0) is called- 

(0) Diathermanous 

ody 

ut 
do not alow any radialion to pass through 

8) Specular 
0- 

Opag 

C) Grey 

(A) 69.5 mm 

26.2 mm (C) 17.5 mm 
45 

35 mm T(+p=1) 4IR (T=0) HEGTM 
(B) FrrgaR 

BT- 
The intensiry of turbulence flow refers to- 

(A) Root mean square ol turbulent velocity fluctuationsS (A) 69.5 fA-. 
(B) 26.2 fa (C) 17.5 fat. 

35 RA 148. An orifice meter, with Ca= 0.6l is substitulo 

8) Average kinetic energEY ot urbulence per mass 

C) The rurbulent, eddy or Reynolds stresses (D) A coTelahon between the 
Veocy components 

by venturimeter with Ca = 098 ina pipe li 
carying Crude oil, having the same thro 

nuctuating 
diameter as that of ornifice. For he same flo 
rate, the ratio of pressure drops fort venturimeter and oriliCe meter is- (A) (o98 

0.61 (C) o61 (6) (098 
os1 
(061 
o.98 

46. For steady state and constant value of thermal 2sociated e temperau of thermal 
e with radial cond stnbution 

WExponential C 
arabolic (B) Logarithmic 

(D) Linear 

(A) aRs 

(B) ayTo 
(D) fers (A) (9 146 is 

lever of ler 
tbuted load o m caries a 
1and a Doin N/m run over omly 
ron the 0d of 2 kN ane whole 

moment will be. na. The mavimance 
bending 

of 

C)5 51 
(D) (061 D.98 

For general industrial machines. the ratio of ength of joumal to its diameter for a beunng lies between- 
(A) 3.0 and 40 

16kNm 
14 kNm 

(B) 0.5 and 1.0 

(B) 12 kNm 
(D) -12 kNm 

(C)1.6 and 2.0 (D) 0.8 and 1.5 R M Y A fanfta sR 2 kN 

(B) 05 s 1.0 

A)-16 th' ETT 
(A) 3.0 3R 40 

6KNm C) -14 kNm (B) 12 kNm 
() 08 TR I.5 (G) 16 R 2.0 2 kN Nm 115 
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nn- channel JFET has a pinch - off voltage

V,= -5V, Vps (Max) = 20 V and gm= 2 mA/ 

The minimum "ON' resistance is achieved in 

JFET for 
Vas=OV and Vos = 0v 

120. During a disturbance on a synchr 
the rotor swings trom A to Bs machin 
settling down to a steady state at finall 
power angle curve. The speed of on the 
during oscillatuon is synchronous a hine 
(A) A and C Vas-7V and Vps = 0V 

only C 
Vas0V and Vps= 20V 

Vos=-7V and Vps = 20V 
(C) A and B D) B and C 

n- JFET 97- 3T5 ao
u Vp 

5V, Vos (RI) = 20 V R gm = 2 mA/ V 

JFET *H SIT ON IGRTE AT f5T 

Vas=OV and Vps = OV 
(A) A str C 

(C) A s B 

(B) 4A CC Vas-7V and Vps=0V 

(D) B TR C 
Vos= 0V and Vps= 20V 

Vas-7V and Vps = 20V 

at is the major factor to determine whethera 

lium is free space, lossless dielectic, lossy 

ectric or good conductor? 

Loss tangent 

121. The continuity equation for a steady low stales 

that -

(A) Velocity field is continuous 

(B) Stream function exists for steady flows 

(C) EfMux rate of mass through the control 

surfaces is zero 
eflection Coefficient 

Attenuation constant 

onstitutive paramelers (, E, 4) 
(0) Velocity is langential to the stream liness 

(A) ara raN 

122. The bending stress in a curved beam is 

hof energy bands depends on which of the 

ving? 
A) Zero at the centroidal axis 

(6) Zero at the point other than centroidal axis 

(C) Maximum at the neutral axis 

clative freedom of electrons in the crystal 

essure 
(0) None of the above mperature 

ass of atom in the material 

(A) 5 34 Y 
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127. When a thick plate 1s subjecicu to cxtemal 123. A uniformly distributed load w in kN/mis 

acting over the entire length of a 3m long 
cantilever beam. If the shear force at the mid- 

loads 
. State of plane suress cus at the 

Surrace 
State of plane straln Occurs at the point of cantilever is 6kN, what is the value of 

surface 

State of plane stresS occurs in the 
interior part of the plate 

State of plane stran occurs in the 

interior part ol the plate 
Which of these stalements are corect 

and 4 
(D) 2 and 

w? 

(A) 4 (B) 2 
(C) 5 (D) 3 

and 

(C) 2 nd. 3 

(A) 4 B) 2 2. 

(C) 5 (D)3 

A.The fit recommended on shaft for ball bearing TRT ETT E 
4. TT TFHTM fapa 

mounting i 

(A)H7 (8) H7/f6 
(C) H7/m6 (0) None of the above 

SR 3 (6) I 3 IR 4 

(D) 2 3T4 
28. Pseudo-plastic isa fluid for which- 

A) Dynamic viscosity increases as the rate of 

2 TR: 

(A) H7/g6 (0) H7/#6 
(C) H7/m6 

shear increases 

o Dynamic viscosity increases with the üme or which the sheanng forces are applicd (9Dynamic viscosity decreases as the rate or 

125. * 

Nomal value of jet ratio in pelton wheel is 
140 (8) 12 

1020 ses (0) Newton's law of viscosity holds good 
(A 40 

12 (95 
126. 

set 8auge value to denote yield po1nt on 

1020 

S-strain diagram is 
0.4% A 

% 
1.0% 

Heat transfer takes place according to which 1aw or mermoaynaniies? 
econd 

()0 .16 

( First Third 
Zeroh 

(A) 0.4% 
(8) 0.2% (C)1. 1.0% 
0.1% 

115 
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